D

2)






____________________________

__________

¥ H16







H13
A
[ o
A A
\ | |
H14
v
(n |
H15
‘ A
ﬁ
H13
H14 l
H15 <:]
!

H16




H13
A 4
| |
| ||| |
| »le |
Hi4
| .
| | | | |
H15 ‘ ‘
H13 ‘
____________________________ l_______________________________________________________________
H14 I
N
|
___________________________________________________ l
H15 ‘
H16 _+ HP ‘
+ |







5-2-1
@ @
5-2-2
5-2-3
5-2-4

5-3-1
5-3-2

5-3-3
5-3-4

0.15

WECPNL



Bz 0O @B O

_
L

_ I

L
 —

cw™)

= = = = = =
1<) =) =3 =] S oS
S o © < ~
-
777777
999999
,,,,,,
~ ~ ~ ~ ~
~
©
=

//////







CO2

NOX

CVM

CO2

NOx

SPM

CO2

49

CO2

SPM

D 2)
/
496.57 368.89
() -32147] -31853
(dB) -50.35 -5843
(0.001ppm) -69.99 -88.27







WTP
WTP
WTP
WTP
N
With 00
og 100
/ AN
/ oo
0km?
With ‘ ’ Without ‘
oo 180km 100

oo 10
500

\ 7
~_ ___~




("



45
4
19
29
426
42
191
196
194
3
5
58
2km
18
12
20 30
10 30
10
50
45
40
35
30
25 4
20 X
X X .
15 ] X |
XX W
10 ~h mh
X
05
00
1 10 100 1000 10000 100,000 1,000,000
e m e X X A+







3 8
[ [ [
\_'_'_'_‘ 05 1.0 15 20 BIC
10 15 20 25 30
+ 10
16
B/C
b c

1.40 1.60 1.80 1.89 2.00 2.20

x -10% 192
16,707 -
x +10% 1.86
x -10% 2.03
106,003 73417
( ) x + 0% 1.76
x -10% 191
15971 P
( ) x + 0% 1.86
x -10% 2.07
199,997
x + 0% 1.70
0 1.89
10 10
+1 1.83
B/C
1.40 1.60 1.80 1.89 2.00 220
— 2.30 R
1.89

— 1.49




10

[ TESTTLEs T F o Ui
ERE s phlbedE Toiw
Exergad reloeaE COIw
EvEToad vERiwAE CoTw
ENSTERT TEEUMAE COIN
ENEIORE ImE§RAE COIN
REEEUAN pEEERAE COTH
ENEUET sFEIAE TOTH
[ FEETT LT St Ty

15

B ] [y

B [*] i
i

freg
[T T B0 RS B R g ]

g
} ata
aa Wl
T e
T B IF]
a0 4
{CFX | L ]
= e
aafl 1l
A L
ol 3
- e







58

6 2003
21
2003
25
2003
31
2003
Vol .10 2003
2004-4

16 2



